@ 200mm @ 300mm



@ 200mm ¢ 300mm

06




@ 200mm ¢ 300mm

1
) Lvl
1
« . ) Lv2
1
Lv3
1
Lv4
1
0.13m3( 0.10)
10 m3
Lv4
1
(
2 m3
Lv4




@ 200mm ¢ 300mm

(
m3
Lv4
2t 2.7km
m3
m3
Lv3
Lv4

Lv4




@ 200mm ¢ 300mm

( ) Lv4
( )
@ 200
Lv4
1150x 800x 1150
( ) Lv4
c 1 30kg 30kg
1 250mm
Lv2

Lv3




@ 200mm ¢ 300mm

Lv4

@ 300D1P

Lvl

Lv2

Lv3

Lv4

0.13m3(

0.10)

m3

Lv3

Lv4




@ 200mm ¢ 300mm

2
1
Lv4
¢ 300
1
300mm
9
2
Lv4
DIP
1
(FCD) (
300mm (
10
4
( )
300mm
11
2
Lv4
DIP
1
4 4.5t 2.9t 4.5km
12
1




@ 200mm ¢ 300mm

Lv3
1
Lv4
Co
1
15cm 30cm
1
11
Lv4
Co
1
13
3 m3
Lv4
Co ( )
1
« )
2t 9.7km
14
1 m3

() 10t,4t,2t




@ 200mm ¢ 300mm




@ 200mm ¢ 300mm




@ 200mm ¢ 300mm

1

0.13m3(

0.10)

100

m3

0.13m3(

0.10)

273

15




@ 200mm ¢ 300mm

2

100

m3

0.13m3(  0.10)

538

15

60 80kg

16

133

33

m3

10




@ 200mm ¢ 300mm

3
( 100 m3
5
8
0.13m3(  0.10)
15
538
« )
60 80kg
16

11




@ 200mm ¢ 300mm

4

2t

2.7km

10

m3

2t

17

12




@ 200mm ¢ 300mm

5

)

¢ 200

@ 200

13




@ 200mm ¢ 300mm

6
1150x 800x 1150

m3

m2

14




@ 200mm ¢ 300mm

7

C

1

30kg

30kg

02

15




@ 200mm ¢ 300mm

8
1 250mm
250 300RB C CA

18

1

250 40

19

1

16




@ 200mm ¢ 300mm

9

300mm

117

117

17




@ 200mm ¢ 300mm

10

(FCD)

(

)

300mm (

016

049

06

30

18




@ 200mm ¢ 300mm

11

300mm

10

078

114

4 4.5t

2.9t

924

20

19




@ 200mm ¢ 300mm

12

4 4.5t

2.9t

4.5km

062

4 4.5t

2.9t

333

21

20




@ 200mm ¢ 300mm

13

m3

m3

21




@ 200mm ¢ 300mm

14

2t

9.7km

10

m3

2t

2.466

22

22




@ 200mm ¢ 300mm

15
0.13m3(

0.10)

1
,2 AKL
23
C I 2 ]
0.13m3[  0.10m3]
1.78
1

23




@ 200mm ¢ 300mm

16

(

) 60 80kg

<

>

(
60 80kg

38

24




@ 200mm ¢ 300mm

17
2t

1
,2 4KL
21
[ 1
2t
1.29
( 1 )
2 3t ()
1.29
1

25




@ 200mm ¢ 300mm

18

)1

250

300RB C CA

26




@ 200mm ¢ 300mm

19

)1

250

40

01

27




@ 200mm ¢ 300mm

20

4 4.5t

2.9t

17

2.9t

28




@ 200mm ¢ 300mm

21

4 4.5t

2.9t

17

2.9t

29




@ 200mm ¢ 300mm

22
2t

1
,2 4KL
21
[ 1
2t
1.29
( 1 )
2 3t ()
1.29
1

30




@ 200mm ¢ 300mm

1

15cm

30cm

()

Q)

10.

58

30cm

@ 75cm

.20

36.

99

12.

66

.84

.66

52.

43

75cm(30

23.

68

56cm(22

16.

23

75cm(30

.93

31




@ 200mm ¢ 300mm

1

15cm

30cm

()

Q)

1.76

[J1

[J3] = 2

15cm

30cm

[J35

[

32




@ 200mm ¢ 300mm

2

m3
(%) %)
44.06
27.26
7.61
7.50
)
55.94
18-8-40 W/C(60 ),
55.94
]
[31] = 2 [09] = 3
[N1] = 32 18-8-40(  )W/C60% [J5] =1
7] = 1 [J8] =1
[N3] = 1

33




@ 200mm ¢ 300mm

3

m2

()

Q)

100.00

43.77

31.27

11.92

1
[J1] = 1

[J2] = 2

34




BRERS HEHEE
%‘E O {ﬁ&fDIP—K ¢ 300:L=2.0m
ek Y:0.50m NO. 7
& 4 R
I £ _# FBRTZE g % 2 B _Z
H#
K& 1§ ¢ 300 = 2 2 2
FE
HEFR(30%1EL) KE g
ANZHIBFET ¢ 300 m| 2 2 2
BEEREMET 8L E ¢ 300 m 20 100 + 1.00 2.000
HHRERMEMT ¢ 300 a 4 4 4
%D 34=v9"
nne& #H%E ¢ 300 t 0.134 (5312 + 1365 )x 2.000 134 ke
(1]
¢ 300 TER
][ QD) AR m 2.0 2.0 2.0
¢ 300 TER
fEEILETIO BEB m 20 2.0 2.0




L

No. 1 NO. 1 TI® NO. 2 +T®
HREWE 20 =EEL 20 =EEL
SER L SER L
£ 5 iR % & & HEHE
REMm 2.85 5.70 | 285 5.70 11.40 )| ( m)
SEUMT Co m
CoShZElR TBm 0.85 770 | 0.8 1.70 00T 3
$RARCORIET  [t=15cmid E m2,
BHO. 13m3 0.49 0.98 0.49 0.98 .96 )| ( 2)
AR ERHE T HE+ m3
BHO. 13m3 ) ¢ )
HIERT BAER m3
BHO. 13m3 NI )
HIERT HESL m3
BiAST 049 098 0.49 0.98 56)(7 73
(£8) 2tDT m3
BIAST 0.26 0.52 | 0.26 0.52 B »)
(Co) 2tDT m3,
ZAE 0. 61 1.22 0. 61 1.22 24| ¢ 2.4)
Cos¥ t




EE-OE . THAKE2L08 1£

IRERT HEFHES

R T 4Y:0.97m NO. 1
B 4 R
I £ BRTZE iy 5 &2 B _Z
#H#
®HHE
TEKE S LT F ¢ 200 & 1 1 1
& L TFEBH300  [ERRH40
TUHE ¢ 200 H=0.90m # 1 1 1 + 1 + 1 1
Exi 4
®HHE
THKEZEFHEE ¢ 200 (&l 1 1 1
$#%% L T#H300 [EKRH40
T H=EZRE ®200 H=0.90m | &R} 11 P 1 v 1
[£T]
¢ 200
HEEHILETO CER m 22 220 x 1fEFET 22
[fH&T]
phegarH)—bIT m3 10 (115 x 080 - ;w/4 x 022 x 022 )x 115 1.0
BT m2 3.6 115 x 080 X 4 - m/4 x 022 x 022
x 2 3.604




TURZEERAMHE

A#15(p 250)
oA NO A% | %Y (Args REEYY LR &R B2 T &R EE TR JE kR & &
(#Lx)  H=50 H=100 H=150 H=100 H=200 H=300 H=300 H=150 H=300 H=40
DIP
PN 200 | 900 1 1 1
& 1 0 0 0 0 0 0 0 0 1 1




L

No. 1 NO. 3 TI®
54 1.0 =@mr N
=& N
£ 5 iR % & & HEHE
HHER K )
SEUMT Co m
CofiZEh Hm K )
$RARCORIET  [t=15cmid E m2,
BHO. 13m3 6. 81 6. 81 L81)|( 10)
AR ERHE T ME+ m3
BHO. 13m3 2.38 2.38 .38)|( 2)
HIERT BER m3
BHO. 13m3 3.45 3.45 .45 )(( 3)
HIERT FELT m3
BitunT 2.98 2.98 .98 )| ( 3)
(E8) 2tDT m3
R K )
(Co) 2tDT m3,
ZAE K )
Cos¥ t




H
H
32
il
o
o
i

No, 1
a5 = @D DIPp300 L= 20 m
BrigE = AZS +HD H= 0.50 m
BEHEEE = 0322 X 0322 X x / = 0.081
Im2%47
% 7t #H = H o & & i =
BRI T
CoBHIEK t =30cmId T 1.00 X 2 + 0.85 = m 2.85
EER Co R T ()
CoH2ElR t=15cmbl I 1.00 X 0.85 = m2 0.85
BHO. 1357 1. 1.00 X 0.85 X( 0.82 — 0.30 )— 0.081 +
BRI A BEE - 0.30 X 0.85 X 0.50 =| m3 0.49
FEFH T 2tDT mElt+ mHEt
FEAA 1+ 0.49 —( = 0.90 )= m3 0.49
FEH T 2tDT
FriAA ol —pg 1.00 X 0.85 X 0.30 = m3 0.26
EIN)

el g 0.26 X 235 = t 0.61




H
H
32
il
o
o
i

No,2
a5 = @ DIPp300 L= 20 m
Hrig& = BES +HD H= 0.50 m
BEHEEE = 0322 X 0322 X x / = 0.081
Im2%47
% 7t #H = H o & & i =
BRI T
CoBHIEK t =30cmId T 1.00 X 2 + 0.85 = m 2.85
EER Co R T ()
CoH2ElR t=15cmbl I 1.00 X 0.85 = m2 0.85
BHO. 1357 1. 1.00 X 0.85 X( 0.82 — 0.30 )— 0.081 +
BRI A BEE - 0.30 X 0.85 X 0.50 =| m3 0.49
FEFH T 2tDT mElt+ mHEt
FEAA 1+ 0.49 —( = 0.90 )= m3 0.49
FEH T 2tDT
FriAA ol —pg 1.00 X 0.85 X 0.30 = m3 0.26
EIN)

el g 0.26 X 235 = t 0.61




H
H
3
B
L
b

No,3
B 2 % @ DIPp200 L= 2.15 m
Bz B CH#f +HD H= 0.97 m
2 B 0.220 X 0220 X ~ / 4 = 0.038
Wiz = 1150 X 1.150 = 1.323

1597240
% B 7t #H = H o & & i =

LHE 1. BHO.13m3
B LI - - BEE - 215 X 2.15 X 1.49 - 0.038 X 2.150 =| m3 6.81
HHET. BHO. 13m3
LN AR (215 X 2.15 - 1.323 )X 0.720 = m3 2.38
HHET. BHO. 13m3
BN FEAE A 2.15 X 2.15 X 0.77 - 1.323 X 0.08 m3 3.45
TEFHy 1. 2tDT e+ T

HAH L 6.81 —( 3.45 + 0.90 )= m3 2.98




